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問題 6.1. 次の 2 変数関数 f(x, y) に対して, 停留点を求めよ.

(1) f(x, y) = x2 − 2y2 + 3x− 4y − 5

• fx(x, y) = 2x+ 3 = 0

• fy(x, y) = −4y − 4 = 0

を整理すると,

 x = −3

2
y = −1

なので, (x, y) = (−
3

2
,−1).

(2) f(x, y) = x2 − 3xy + 3y2 + 4x− 9y + 5

• fx(x, y) = 2x− 3y + 4 = 0

• fy(x, y) = −3x+ 6y − 9 = 0

すなわち,

{
2x− 3y = −4

x− 2y = −3
を解いて, (x, y) = (1, 2).

(3) f(x, y) =
1

2
x2 − 3xy + y3 − 3

• fx(x, y) = x− 3y = 0

• fy(x, y) = −3x+ 3y2 = 0

すなわち,

{
x− 3y = 0

x− y2 = 0
を解いて, (x, y) = (0, 0), (9, 3).


